3 URA - UVIBIEVAVTE — ReSITUE

U . 4577/3 o= A= 23443 <= A48 om
a
Yy
) el s =4 K ,@’f’ﬁ;:?_a; 3142”“’"
a . r=3em /Zoé y gl
, vy
- Je breo /0
Oéwﬁa éﬁﬁq
2= Gt

o= 2’.‘"".\‘-:' 2-3}4‘4'“ = 25}’,2}%

0o . s
z . ,C_r__ & 25‘;/{2 e é;%m

Unt. 167 :
2 /4 12 i = é% ocl 5500/ éﬂ’ ' 50/}47/%/04

%/ . éﬁw'ﬁq wovredd 7/04/14 é&f S60°
= A
: 2l 560" = (3o e0) 42- 72

i—
—_—

&fjgz e die. . Summe N
= 48 om 140° o = R, 6 en,

7604«4'0@ ﬂwlﬂa-;//u/?q W@ /oyw'zg;e A Bine,.



(2= Gen

#RoF

{64 5| = Cow. Ej \\
152, ,3) =40eu.. :
2= bew £= f"*/@"'} o

:G"ZI’:XW . :'512 +/12'5,é+42,5é=
= A0 -Y4=6om " 30732,1%. |
e e

B B 1§S” /-

Tt o \ G-
Uy L R T RN

280 /,(o”/
e - £ Ro® >
Zg' 5 jg > B3496 - Ro = AR5 e
180 A X"

o@a/&m éwﬂ C’//)é’/g fznéﬁp?w 30 2R s,



(} oty 167/ %
a> A’/(Qau . '
Ce molo /”WQ? ‘/&é‘é/
R Qéé//h? //){A&‘ 4
N ?
V. = /CUX=//2/,2=ém

O AW = R 344 € = %@

S0 ol g

‘\J

2 = kg

, ~
0& /&'éa _ 3 kpogt A EVADKAT
. "”?
»ulfﬁ o KVAD RAT :Fi—iib
,0‘« qaediry o=4a
o= A g6 o= 02

0> 39,68 om 0 =48 com



